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2.7182822% — 684.4566x + 0.3161592 = 0 (3)
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(2.718282 x 251.7980 — 684.4566) x 251.7980 + 0.3161592
= ((684.4580 — 684.4566)) x 251.7980 + 0.3161592

= 0.0014 x 251.7980 + 0.3161592

= 0.3525172 + 0.3161592 = 0.6686764
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(2.718282 x 0.0004619157 — 684.4566) x 0.0004619157 + 0.3161592
= (0.001255617 — 684.4566) x 0.0004619157 4 0.3161592

= —684.4553 x 0.0004619157 + 0.3161592

= —0.3161606 + 0.3161592 = —0.0000014
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V0000000000000 3000000000 251.797000000000.00000
000 2=0.00046191570000000000.
J0000000,00000000000000000000000.30000000000,
az® +b2x?’ +cx+d00000 60000, z(z(az+b)+c)+d0000000000 30000
0000,0000000000000.
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d ~ apx™ (1 +u)" — apz”

= ap(nz"u +n(n — D" u® + - 4+ u")

= ap(naz"u)
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S~ (2+1) x 172345 x 5/1077 = 0.26
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§~0.32 x 5/1077 = 0.0000002
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